

BID BULLETIN NO. 01

Date:

15 September 2023

ITB No .:

bac-23-0830e

Project Name:

Supply and Delivery of Various Veterinary Drugs, Medicines and Supplies - Veterinary Services Dept.

(Rebid)

ABC: Php3,324,500.00

To all prospective bidders:

This Bid Bulletin is issued to clarify, supplement, modify and/or revise the particular sections in the Bid and Contract Documents as stipulated in the Bidding Documents issued on 30 August 2023. The Bidders shall take note of the following items carefully and consider them in the preparation of their bid proposals, as they shall form part of the CONTRACT DOCUMENTS.

Item	Previous Specification/	Amendment/Response to		
	Clarification/Request to Consider	Clarification		
1	PREVIOUS SECTION I. INVITATION	AMENDMENT TO SECTION I.		
	TO BID	INVITATION TO BID		
	1. The CITY GOVERNMENT OF PASIG, through the Executive	1. The CITY GOVERNMENT OF PASIG, through the Executive		
	Budget CY 2023 intends to apply the			
	sum of Three Million Three Hundred			
	Twenty Four Thousand Five Hundred	Hundred Seventy-Three		
	Pesos Only (Php 3,324,500.00)	Thousand Five Hundred Pesos		
	being the ABC to payments under	Only (Php 3,273,500.00) being		
	the contract for the Supply and	the ABC to payments under the		
	Delivery of Various Veterinary	contract for the Supply and Delivery		
	Drugs, Medicines and Supplies -	of Various Veterinary Drugs,		
	Veterinary Services Department	Medicines and Supplies - Veterinary		
	(Rebid). Bids received in excess of the ABC for each lot shall be	Services Department (Rebid). Bids received in excess of the ABC for		
	automatically rejected at bid	each lot shall be automatically		
	opening.	rejected at bid opening.		

	ITEM NO.	DESCRIPTION	APPROVED BUDGET (PHP)	ITEM NO.	DESCRIPTION	APPROVED BUDGET (PHP)
		LOT 1	3,180,000.00		LOT 1	3,129,000.00
	1	Xylazine,		1	Xylazine,	
		Hydrochloride			Hydrochloride	
	2	TILETAMINE		2	TILETAMINE	
	3	Atropine Sulfate		3	Atropine Sulfate	
	4	AMOXICILLIN		4	AMOXICILLIN	
	5	Marbofloxacin		5	Marbofloxacin	
	6	ENROFLOXACIN		6	ENROFLOXACIN	
3	7	Trimetoprim		7	Trimetoprim	
	•	Sulfamethoxypyri			Sulfamethoxypyri	
		dazine			dazine	
	8	Dexamethasone		8	Dexamethasone	
	9			9	B-COMPLEX	
	Э	B-COMPLEX			w/LIVER EXTRACT	
		w/LIVER EXTRACT			INJ	
		INJ		10		
	10	Calcium		10	Calcium	
		BoroGluconate,			BoroGluconate,	
		250mg/ml			250mg/ml	
	11	IVERMECTIN INJ		11	IVERMECTIN INJ	
	12	PRAZIQUANTEL +		12	PRAZIQUANTEL +	
	80 E1	PYRANTEL PAMO-			PYRANTEL PAMO-	
		ATE			ATE	
	13	DEXTROSE 5%		13	DEXTROSE 5%	
		LACTOSE			LACTOSE	
		RINGER's			RINGER's	
		sOLUTION 1L			sOLUTION 1L	
	14	SYRINGES 3 ML		14	SYRINGES 3 ML	
	15	Examination		15	Examination	
	A340.404	Gloves Latex			Gloves Latex	
	16	Cotton Roll		16	Cotton Roll	
	17	GAUZE PADS		17	GAUZE PADS	
	18	SURGICALTAPE 1"		18	SURGICAL TAPE 1"	
	19	Hair Net		19	Hair Net	
	20	SURGICAL		20	SURGICAL	
	20	DRAPES			DRAPES	
	21			21	Disposable	
	21	Disposable			Underpads	
-	22	Underpads		22	Povidone Iodine	
	22	Povidone lodine		23		
	23	PET WOUND		25	PET WOUND	
		SPRAY		24	SPRAY	-
	24	70% Isopropyl		24	70% Isopropyl	
		Alcohol			Alcohol	
	25	Doxycycline		25	Doxycycline	444 200 00
		LOT 2	144,500.00	1-30	LOT 2	144,500.00
	26	LEASH WITH		26	LEASH WITH	
		COLLAR SET			COLLAR SET	-
	27	Disposable Razor		27	Disposable Razor	-
	28	PET HAIR CLIPPER		28	PET HAIR CLIPPER	-
	29	Pet Clipper Blades	1	29	Pet Clipper Blades	

30	Digital Scale	Weighing	
	Scale	TOTAL	3,324,500.00

XXX XXX XXX

7. Bids must be duly received by the Procurement Management Office through manual submission at the office address indicated below, onor before 20 September, 2023, 9:30 A.M. Late bids shall not be accepted.

XXX XXX XXX

 Bid opening shall be on September 20, 2023, 10:00 A.M at the given address below. Bids will be opened in the presence of the bidders' representatives who choose to attend the activity.

XXX XXX XXX

	Weighing	Digital Scale	30
3,273,500.00	TOTAL		

XXX XXX XXX

 Bids must be duly received by the Procurement Management Office through manual submission at the office address indicated below, onor before 22 September, 2023, 9:30
 A.M. Late bids shall not be accepted.

XXX XXX XXX

Bid opening shall be on September
 22, 2023, 10:00 A.M at the given address below. Bids will be opened in the presence of the bidders' representatives who choose to attend the activity.

XXX XXX XXX

2 PREVIOUS REMINDERS

XXX XXX XXX

BIDDING DOCUMENTS AND AVAILABILITY FEE

- Bidding Documents:
 - August 30, 2023 to
 September 20, 2023 until
 9:30 AM
 - 8:00 am to 5:00 pm and upon payment of applicable fees for the Bidding Documents at the City Treasurer's Office xxx xxx xxx

REMINDERS:

 The deadline for the submission of bid is on September 20, 2023 (Wednesday) at 1:00 PM at the BAC Secretariat's Office, 4th

AMENDMENT TO REMINDERS

XXX XXX XXX

BIDDING DOCUMENTS AND AVAILABILITY FEE

- Bidding Documents:
 - August 30, 2023 to
 September 22, 2023 until
 9:30 AM
 - 8:00 am to 5:00 pm and upon payment of applicable fees for the Bidding Documents at the City Treasurer's Office xxx xxx xxx

REMINDERS:

 The deadline for the submission of bid is on September 22, 2023 (Friday) at 9:30 AM at the BAC Secretariat's Office, 4th Floor Pasig City Hall, Caruncho Ave., San Nicolas Pasig City. The digital clock at the Secretariat's Office that is set to the Philippine Time (PhST) shall reference used as determining the time for the submission of bids, hence participating bidders are advised to synchronize their timepiece with the said digital clock. Late bids or those who submitted after 9:30 AM of September 20, 2023 (Wednesday) shall not be accepted.

XXX XXX XXX

 Bid opening shall be on September 20, 2023 (Wednesday) at 10:00 PM at 7th Floor Meeting Room, Pasig City Hall, Caruncho Ave., San Nicolas Pasig City. Bids will be opened in the presence of the bidders' representatives who choose to attend.

XXX XXX XXX

2 PREVIOUS SECTION VII. TECHNICAL SPECIFICATIONS

Item No.	Description
1	Xylazine, Hydrochloride, 20 mg/ml solution (20ml/vial)
2	TILETAMINE, Zolazepam 50%, 125mg/125mg/5ml btl
3	Atropine Sulfate, 1mg/ml, 50ml/btl
7	Trimetoprim Sulfamethoxypyridazine, 40mg/200mg, 24%, 100ml/btl

Floor Pasig City Hall, Caruncho Ave., San Nicolas Pasig City. The clock at the BAC digital Secretariat's Office that is set to the Philippine Time (PhST) shall reference used as determining the time for the of bids, hence submission participating bidders are advised to synchronize their timepiece with the said digital clock. Late bids or those who submitted after 9:30 AM of September 22, 2023 (Friday) shall not be accepted.

XXX XXX XXX

 Bid opening shall be on September 22, 2023 (Friday) at 10:00 AM at 7th Floor Meeting Room, Pasig City Hall, Caruncho Ave., San Nicolas Pasig City. Bids will be opened in the presence of the bidders' representatives who choose to attend.

XXX XXX XXX

AMENDMENT TO SECTION VII. TECHNICAL SPECIFICATIONS

Item No.	Description
1	Xylazine, Hydrochloride, 20mg/ml solution (50ml/vial)
2	TILETAMINE, Zolazepam 50%, 125mg/125mg/5ml btl
3	Atropine Sulfate, 650mcg/ml, 50ml/btl
7	Trimetoprim Sulfamethoxypyridazine, 40mg/200mg, 24%, 100ml/btl

REVISED SECTION VI. SCHEDULE OF REQUIREMENTS

Item Number	Description	Quantity	Total	Delivered, Weeks/Months	
	LOT 1			Within 60	
1	Xylazine, Hydrochloride	180 vials	180 vials	calendar days bu	
2	TÍLETAMINÉ	180 btls	180 btls	not to exceed Dec.	
3	Atropine Sulfate	50 btls	50 btls	31, 2023 upon	
4	AMOXICILLIN	50 btls	50 btls	issuance of Notice	
5	Marbofloxacin	20 btls	20 btls	to Proceed	
6	ENROFLOXACIN	20 btls	20 btls		
7	Trimetoprim	30 btls	30 btls		
	Sulfamethoxypyridazine		The state of the s		
8	Dexamethasone	50 btls	50 btls		
9	B-COMPLEX w/LIVER	100 btls	100 btls		
-	EXTRACT INJ				
10	Calcium BoroGluconate,	50 btls	50 btls		
	250mg/ml				
11	IVERMECTIN INJ	100 btls	100 btls		
12	PRAZIQUANTEL +	150 btls	150 btls		
	PYRANTEL PAMO-ATE	Mary and the second			
13	DEXTROSE 5% LACTOSE	3 boxes	3 boxes		
	RINGER's SOLUTION 1L				
14	SYRINGES 3 ML	65 big	65 big		
		boxes	boxes		
15	Examination Gloves Latex	100	100		
		boxes	boxes		
16	Cotton Roll	100 rolls	100 rolls		
17	GAUZE PADS	100	100 boxes		
		boxes			
18	SURGICAL TAPE 1"	100	100		
		boxes	boxes		
19	Hair Net	3 boxes	3 boxes		
20	SURGICAL DRAPES	5 packs	5 packs		
21	Disposable Underpads	100	100		
		packs	packs		
22	Povidone Iodine	10	10		
		gallons	gallons		
23	PET WOUND SPRAY	50 cans	50 cans		
24	70% Isopropyl Alcohol	100 gals	100 gals		
25	Doxycycline	50 btls	50 btls		
	LOT 2				
26	LEASH WITH COLLAR SET	280 sets	280 sets		
27	Disposable Razor	3 boxes	3 boxes		
28	PET HAIR CLIPPER	2 units	2 units		
29	Pet Clipper Blades	6 pcs	6 pcs		
30	Digital Weighing Scale	2 units	2 units		

ANNEX "B"

REVISED ITEMS TO BE BID

					1
ITEM			APPROVE	APPROVED	
NO	QTY	UOM	DUNIT	BUDGET FOR THE	DESCRIPTION
INO			PRICE	CONTRACT (PHP)	
			(PHP)		
					LOT 1
1	180	vials	2,800.00	504,000.00	Xylazine, Hydrochloride
2	180	btls	3,000.00	540,000.00	TILETAMINE
3	50	btls	975.00	48,750.00	Atropine Sulfate
4	50	btls	1,200.00	60,000.00	AMOXICILLIN
5	20	btls	5,500.00	110,000.00	Marbofloxacin
6	20	btls	1,700.00	34,000.00	ENROFLOXACIN
7	30	btls	1,700.00	51,000.00	Trimetoprim
	FO	I-11-	000.00	45 000 00	Sulfamethoxypyridazine
8	50	btls	900.00	45,000.00	Dexamethasone
9	100	btls	900.00	90,000.00	B-COMPLEX w/LIVER
			500.00		EXTRACT INJ
10	50	btls	600.00	30,000.00	Calcium BoroGluconate,
					250mg/ml
11	100	btls	3,800.00	380,000.00	IVERMECTIN INJ
12	150	btls	800.00	120,000.00	PRAZIQUANTEL + PYRANTEL
					PAMO-ĀTE
13	3	boxes	2,200.00	6,600.00	DEXTROSE 5% LACTOSE
					RINGER's sOLUTION 1L
14	65	big	12,200.00	793,000.00	SYRINGES 3 ML
		boxes	**************************************		1997 (1997-2007) 1997 (1997-1997) 1997 (1997-1997)
15	100	boxes	535.00	53,500.00	Examination Gloves Latex
16	100	rolls	250.00	25,000.00	Cotton Roll
17	100	boxes	150.00	15,000.00	GAUZE PADS
18	100	boxes	900.00	90,000.00	SURGICAL TAPE 1"
19	3	boxes	300.00	900.00	Hair Net
20	5	packs	600.00	3,000.00	SURGICAL DRAPES
21	100	packs	250.00	25,000.00	Disposable Underpads
22			1,025.00	10,250.00	Povidone Iodine
	10	gallons			PET WOUND SPRAY
23	50	cans	500.00	25,000.00	
24	100		800.00	80,000.00	70% Isopropyl Alcohol
25	50	btls	800.00	40,000.00	Doxycycline
					LOT 2
26	280	sets	250.00	70,000.00	LEASH WITH COLLAR SET
27	3	boxes	300.00	900.00	Disposable Razor
28	2	units	20,000.00	40,000.00	PET HAIR CLIPPER
29	6	pcs	4,100.00	24,600.00	Pet Clipper Blades
30	2	units	4,500.00	9,000.00	Digital Weighing Scale
			TOTAL	3,273,500.00	

3	PREVIOUS SECTION VI. SCHEDULE OF REQUIREMENTS	AMENDMENT TO SECTION VI. SCHEDULE OF REQUIREMENTS
	As reflected in the Bidding Documents posted in PhilGEPS	Please refer to Annex "A" for the Revised Section VI. Schedule of Requirements
4	PREVIOUS ITEMS TO BE BID	AMENDMENT TO ITEMS TO BE BID
	As reflected in the Bidding Documents posted in PhilGEPS	Please refer to Annex "B" for the Revised Items to be Bid

Bidders who have already submitted bids are hereby informed that they are allowed to modify or withdraw their bids, if necessary, before the scheduled opening of bid envelopes.

For modifications in your original submitted bid, kindly submit new bidding documents (sealed and marked as "Modified Bid") and have these received at the Office of the Bids and Awards Secretariat. Bid modifications received after the deadline shall not be considered and shall be returned to the bidder unopened.

Conforme:

END-USER REPRESENTATIVE Signature Over Printed Name

ATTY. JOSEPHINE (LATI-BAGAOISAN %

Chairperson